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1- 1. Thedomainof R={(0, 2}, (2, 3), (3,3), (3, 4)} is JR7xR= {0, 2), (2,3), (3,3), (3, 4)})7 |
e Jﬂ {Dom) &
{2.3,4} (D) {0,2,4} (C) {0.2,3} (B) {0,3,4} (A)
2-inaratio a:b, a iscalled ,.?.rus’ a L aib o 2
proportional —F (D) consequent f:d/u (C) antecedent éd{i (B) relation J"J (A)
3- A complete circle is divided into - b | lf..“_'?f en ¥ I -3
360° (D) 270° () 180° (B) 90° (A)
4- A frequency polygon is a many sided kS Suike & twow ¥ 65 _a
circle 21 (D) square d/ (C) rectangle ;_,k-b’u (B) closed figure (,‘?’xf. (A)
5- The portion of a circle between two radii e Gen Sty nal g3 Mz o ¥ b 15
and an arc is called < I:'Lb.f
circumference 4% (D) chord 53 (C) segment -5 (B) sector & (A)
6- A line which has two points in common with a circle is called — &« S 46 0 A Lo 6 £ ok i 6
cosine of acircle  cosine ke 7i: (B) sine of a circle  sine Ko7y (A)
secantofacircle  secant K4y (D) tangent of acircle  tangent ¥z #i: (C)
7- ~1-—+l is e ~e i —1—+— g
o P qual to - -
a+f o 11 |
_uﬁ__ (D) &B_ (€ o E (B) a (A)
8- The number of terms in a standard quadratic ,g.:lﬁ J U M ax?ebx+c=0 et Yibee G0y 2 .8
equation ax?+bx+c=0 is '
4 (D) 3 (C) 2 (B) 1 (A)
9- A fraction in which the degree of numerator is less than & u’fi J L7 d/} u(.,«‘fjf“uf u’%/'/ -8
the degree of denaminator is called _‘;__JM al
an improper fration /_2i4 (B) aproper fraction “2ls (A)
anidentity =£1’ (D) anequation «hls (C)
10- A pair of chords of a circle subtending two AT 1 t z_ & UPs n ¢ Ll d}'} J"L"‘“ » =10
congruent central angles is i U
parallel (JJ1# (D) overlapping ..f.f/"’ {C)  incongruent Lfsl}"/;é {(B) congruent L}"‘i}“ (A)
11- Roots of the equation 4x%-5x+2=0 are AU L AR _Bx+2=0 ehis 11
none of these ;_ff (}7; Sl (D) rational J‘!’t () imaginary J‘?{ (B} irrational Jl’c,{ (A)
12- The third proportional of x2 and y2 is e ¥ I+ yz A x% 12
y? y! 22 y?
A (D) 7 (C) Xy (B 2 (A)
13- The spread or scatterness of ochservations in a data set is called £-a qu WA K =l sl u”f -13
mode sk (D) centraltendency ;;lL?—.rd)} (C) dispersion 1 (B) average b~ (A)
14-If A< B, then A-B isequalto .t A-B Fx ACB .14
B-A (D) ¢ (© B (B) A (A)
{5 = cosec P = 5 cosec 45° = _15
2 2
i 1 ]
? (D) V2 (©) 5 ® o @
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2- Write short answers to any SiX questions: (2x6=12) _
i- Write any two methods to solve the quadratic equations. Lol & pu .:_.Jf L& S I OTs\ B s
1 1 1 1
ii- Write —— + = 3 in standard form. &P —— + .
Write =~ + T2 in standard form (s YW S d  md

iii- Solve 3x2 + 8x + 2 =0 by using quadratic formula.

iv- Find the discriminant of the quadratic equation
4x2-7x-2=0

v- Evaluate: (1-o+ ®° )6

vi- Without solving the equation (a +b) x2 -ax+b =0

find the sum and product of the roots.

if:f‘—:;_),d:.u JU)”/GJ-JJ ) :f 3x2 +8x+2=0
2‘{{"’# 06 4x2-7x-2=0 wilafns

e (1-o+ed)®
AL @by -ax+b=0 =hl
-ér:l”.,;ﬁd"b»i ,&r‘{ Kuju

. 1
VIEf wot-— and w=2 ,when V=3, Ja 23 oo Ww=2 ) WX— J
\3 v
then find W & o W
viii- Find the value of P, if the ratios 2p +5: 3p +4 s 2p+5:3p+4 u:"""f; zzfr:b’d‘f P

and 3:4 areequal
ix- Find the third propertional to 28 and 4,

~Urale 3:4
-é{'}l"‘qt;i,/fb' 8,4

i
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Vi

Vil

- Viii

-ix
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3 Write short answers to any SIX questions: (2x6=12)
i- Resolve m into partial fractions. _ffﬂ'ﬁ%,/d,g,l’ &i‘%}%
ii- Separate proper and improper fractions: :éw%‘e.w‘.lffus/«.‘.s:ls/f sl 2ty
%2+ x+1 2x+5 o xo+ 1 2x x%+x+1 2%X+5 o x?al 2x
ez GEDEFD] P GeDE-2) a2 D=2 ko) -DE-2)
iil- If Y={2,4,5, 9} and X={1,4,7, 9}, then dw X={1,47,9} » Y={2,4,5, 9} A
find XN'Y .z > XnY

iv- Find a and b if (2a+5,3)=(7,b-4)
v- State the De,Morgan's Laws.
vi- If A=N and B=W, thenfind A-B

vii- Define arithmetic mean.

viii- Find geometric mean of the observations 2, 4, 8
ix- Write the formuia of mode for grouped data.

4- Write short answers to any SIX questions: (2x6=12)
- Express -225° into radian.

ii- Find L when § =180°, r=4.9cm
jii- Define projection.
iv- Define diameter of a circle.

v- Define tangent of a circle.

vi- Define circumference of a circle.

(é'&.@)

(2a+5,3)=(7,b-4) S & ¢ b s a

"2.:: Yk d.f'}&/- ijl, (s

'Z:!"’h/ A-B ¥x B=W s A=N ,f;
o § e e

L b B K 2,48 ol

"2:: {,; sl € wlb g:]r ’J;Lf
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~Vi
_vii
- viii
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vii- Define central angle.

&~

viii- Define inscribed circle.

ix- If | AB| =3.5cmand [ BC| = 5¢cm are the lengths of

two chords of an arc, then locate the centre of the arc.

-évé.’}(fz’ukfff -vii

E S i
Ui BC o AB usiin Suis -ix
LB KT Fun 5 £ 35 A
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(a) Solvethe equation ax?+4x-a=0 by

completing square.
(b) Show that the equation x?+ (mx +¢)2 = a2 has

equal roots if ¢’ =a? (1+ m2)

@ 1f a:b=c:d (a,b,c,d #0), then

a a+b c c+d
show that : = :
a-b b c—d d
3x+7
(b} Resolve into partial fractions.

x2+1)(x+3)
(@ If L={x|xeNAx<5},
M={y|yePAy<10} | then make the following

relation from LtoM: R={(x,y)] v <x}

(b) Find the standard deviation 'S’ of the set of numbers:
9, 38,89 8 9 18

(a) Verify the identity:

l+cos® sinf

sin 0 1+cosH

(b} Inscribe a circle in an equilateral triangle ABC

with each side of length 5 cm.

=2cosecH

Prove that a straight line drawn from the centre of a circle
to bisect a chord is perpendicular to the chord.

OR

Prove that the measure of a central angle of a minor arc
of a circle is double that of the angle subtended by
the corresponding major arc.
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_éd" CJ;/ Jls:".g;@ { ax?+4x-a=0 bl () _5

J‘;'u C x%+ (mx+c)? = a2 ..*:Jst‘f'éi.::r,L‘ (&)
g = 32(1 # m2) ./’7 ﬁuﬁxb:
Zekd ab=c:d (ab,cd #0) () -6

a atb ¢  c+d
a-b b c-d d
3x+7

4 7L R aiich 2 ST,
..é:g,k-ypﬁ' w5 3( (x2+l)(x+ 3) (.)
L={x|xeNAax<5} A .7
4 Me L7z M={ylyePry<10}
R={(x,y)| v <x} &bindstn
é ()”‘ 'S Jlfl Y 5’{_,’:/:} ()
9, 38 8, 9 8, 9 18
2 e WLV () -8
sin 0
sin 1+cos6
Ul G E ot ¥ ABC &t Lisiifile ()
<t 7B JU o/é&ﬁi
Z./"J,f,“’-g(fi Lf"c,);' L i f@?».‘:rb -9
e by 73 15 b3 iy
¢
U A sl zj)} s S s/f“q;uﬂ & Al Lf:f/é'.:fb'
&by s el sii J)‘;én/:f;’;ﬁb? LZ,‘

1 S
sy =2 cosec O
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1-  1- The portion of a circle between two radii -.;_rMn Ui Z Ul o Ay .,{.e.e? Ke._/ru.{ -1 -1
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and an arc is called
none of these uﬁ)::..gﬁui (D) chord 73 (C)
2- Tangents drawn at the ends of diameter of a circle
to each other.
perpendicular i»" (D) collinear &% (C)
3- A cumulative frequency table is also called
data si»* (B)
none of these ,ﬂ@.r‘::,u:cu (D)
4-if AC B then ANB is equalto
none of these (s el (D) ¢ (C)

5- The nature of the roots of equation ax’+ bx+c = 0

are

is determined by .
product of roots w68 (B)
synthetic division < Lf'(} {D)
6- Through how many non-collinear points, a circle can pass?
none of these uﬁﬁf;u‘:cﬂ (D) 3 (C)
+32X 4 6= 0 isa/an
reciprocal equation ..'.'JJL/J:;‘ (B)
in equation =il-Z (D)
8- A pair of chords of a circle subtending two
congruent central angles is
paraliel 47 (D)
9-inaratio x:y, y is called
none of these ;_;E"chﬂ‘,r:ul (D)
10- If number of elements in set Ais 3 andin setB is 2 then .
nember of binary relationsin Ax B is

7~ An equation of the type 3%

_ﬁu:f

over lapping _,fij (C)

0 2
11- The discriminantof ax2 +bx+¢=0 s
b? - 4ac (D) -b%-4ac (C)

12- Mean is affected by change in

none of these uﬁf;bdui D) origin ;;,UC.;'“ (C)

_c
13- If 5 d then componendo property is

a-b c—d i ad c
b 4 © e ©
” x+2
Partial fractions of ~ & +1j(x +2) are of the form
A Bx o AuE, C
x+1 x249 (D) x+1  x2.9 @
15- %coscc 45°=
? (D) V2 (©
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non parallel ($/15%# (B)

ce iy

incongruent Jb“—‘,-f {B)

consequent (- (C)

sector /“-'-: (B)  segment =& (A)

A FATIVELE Uy LB L0 2

parailei ($2# (A)
_:j_t'ﬂs‘/dug U}»’”\f:f ..
frequency distribution (‘:’Z}’:ﬂ (A)

less than cumulative frequency distribution (:}{j:ﬁdﬁf}ﬁ’ (C)

~atrie ANB I ACB Ji .4
B (B A (A)

- 3
~abltlx frur \( B ax’ + bx+ ¢=0 &b~ -5

sum of roots ;}fﬁiﬂu (A)
discriminant +293/ (C)
il 520 6

2 (B) 1 (A)

3 432% 6 0 bls 7

exponential equation «fslay Eu_f.»’ (A)
radical equation &b+l (C)

S Fahl_}".'..'.._.u;/; 2 L.?H_.Jb‘j//a_fb") -8

congruent Jﬂ ™ (A)
i -q..t‘l/ Yo x: y ex L9

antecedent (JU‘L':: (B) relation ul’ (A)
In2 S Bers3 JiﬁJw'(jfu: A-‘-{‘/ﬁ =10

_{_Jr.’ sl JJ;.JFU JLfé: AxB

2® (®) 2° (A)
el 38 ax? +bx + ¢ =0 11

-b%+4dac (B) b% + 4ac (A)
e b i e i S bt 212

ratio =’ (B) value =.f {A)

O e 8 B . B
a-b c—d ®) a+tb c+d )
G X+ 2
. s g ———
asi 7 d,()H-l)(xz+2)
A Bx+C A B

+..__— i
2+2 B

-14

x+1

) @)

w;‘CdSCC 450 = .15
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2- Write short answers to any SIX questions: (2x6=12)
i Solve: Lz e _) EFS [gxﬁ 1)2 2
' j 2 4
ii- Define radical equahon. Wirite example. &l e Seily Ve cllbedide i
iii- Solve 4 —32x =17 x> by factorization. 4 "d;f-.gxi S 4-x=17 x? il
iv- Find the discriminant of quadratic equation x2-3x+3=0 é(r"’e,afuj € x2-3x+3=0 =hlrdon ~iv
v- Using synthetic division to find the quotient and the ul,xsi _/’J"’ by Z S e f(‘” o{f Y
remainder when (x”+7 x~ 1) + (x+1) o2+ 7x-1)+(x+1) £ZEH
Vi Find @ | if © s +2NC§- e w? ir 0= :—1+ 1/— -V

vii- Define direct variation. _é..y/’Jwb,f ~vii

il | - - F s
viii- Find 'x', if 6:x::3:5 i ed X Ix 6:x:3:5 /1 i
ix- Find the mean proportional to 20x%y® and 5xy. _sE e A b ¥ BTy 20x%°  -ix

3 Write short answers to any SIX questions: (2x6=12) ..é’-: ;f.—.«Lli/ﬁZe.«l}fr(E} £ .:..Jf -3
i- Resolve -2—5:—5— into partial fractions. 5 J’qu w07 o g —— 2 = -
x“+2x-5 +2X— 5
i ; i L x2 o 7 PE IR - IS
i- How can we make partial fractions of N 3 _ut Folut w67 & X0
ii- f X = ¢, Y =2*,T =07, thenfind YUT e YUT nT=0% Y=L X=¢ /i -ii
iv- Find a and b, & (3—46-2) = (2.)) (a-4,b-2)=(2,1) e brra v
v- Define a function. Sl v
Vi- If A={1,2. 3}, B={2 5), thenfind BxA. A BxAFnB={2,5 A= (1,23 /1 i
vii- Find the arithmetic mean for the following frequency EE o bl (L2 2 & (“' $od Sl Vil
distribution:
No. of Heads X 1 2 3 4 5 | X Heads
Frequency 3 8 5 3 1 el
viii- Write down the formulae of Median and Mode for grouped data. e‘_}ﬂ,m Loslossl 2s & $s/ vl
ix- For the following data, find the harmonic mean: (»‘-" Ll _.E:lfdr;'r Jibw -ix
[x [ 12 ] s 8 | 4
4- Write short answers to any SIX questions: (2x6=12) é ;UL&/#LHUIV(GI ¥ 4 c.(ji -4
i- Define an angle. é...v/‘ L} -
ii- Prove that: tan” 0+ tan” 0 = tan” 0. sec” 0 tan? 0 + tan® 0 = tan” 0. sec 29 St -
Effengp i

jii- Define zero dimension.
_z.f..asﬁf—.}? Jd.?l) -V
v- Define secant. EfiBls
vi- Define chord of a circle. wé..,@/?[f}j Loty i
vii- Define cyclic quadrilateral. ey P il
Sl il

iv- Define arc of a circle.

viii- Define escribed circle.

ix- 1f | AB|=3cm and | BC|=4 cm are the lengths of il d BC 4 AB w7 »Lu’;"d’(fl <1t
two chords of an arc then locate the centre of the arc. -21‘5(}*’ SrEuP Fun Faus3
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2 1
(@ Solve: 3 54 15x3

(b) Solve by using synthetic division, if 3 is the root of
the equation 2 x7_3x2_11x16=0

1
@ ¥ WX~ and w=5when z=7, find w

g
when 7 = -I 71
4
2 .
x“+7x+11 ) ,
®) Resolve —— info partial fractions.
(x+2)"(x+3)

@ If L={x{xeNnx<5}
M={ylyeP~y<1i0}  then make the following
relation from L to M: R = {(x,y)|x+y =6}

(b) Find the standard deviation 'S' of the set of numbers:
12.6,7,3,15,10,18, 5

- |
(@) Verify the identity: ja%8 0+1 _Secf+1
Vseco-1 tan 6

(b} Around the circle of radius 4 cm, draw a square.

Prove that two chords of a circle which are equidistant
from the centre are congruent.

OR

Prove that any two angles in the same segment of a
circle are equal,

112-220-76000

2 |

s = o
ESS x3+54=15x3 ()

3w A& LeP 05 ()
ik 2%°-3x2~11x+6=0 £ N

1 .
Inz=7 2w=5 VS Ji ()
175 .

X%+ Tx+11 )
x+2)2(x+3)
L={x|xeNax<5} f(uh
& Jits in M={ylyePry<10}
R={xy)|x+y =6} b by M L
2‘2‘-_4"':1” 'S’ i Gl (2
12,6,7,3,15,10,18, 5
sec0+1 _secO+1
\fsz::c 0-1 tan 0
S Cﬁ/;l; Lt ic.(“'ﬂi s K;Jb..ﬁ (3
e S Solr e S 2 350 Lo Sy ff:;/b‘
Sl

-/'L""‘Ul:b-w JJ/U?JZ ,‘/

f’é;cu;t‘.:.fi/ (i

L
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